Comparison of Pascal's Triangle with Binomial Coefficients
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They are the same!!!

So. we can use binomial coetticients to expand (x +y )"
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In your Exam formula sheet, this is written as:
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The symbol Z , called sigma. means take the sum of.

The equation 7 = 0 underneath this symbol means starting from 7 = 0.

The letter 7 at the top means until 7 = 7.



Example 1 Example 2

Find the coefficient of x5 in the expansion of ( x +y )’ i ) .. i !
Find the coefficient of x” in the expansion of | x +—
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Find the term independent of x in the expansion of [3.\-“ + —]
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Write down and simplify the general term in the expansion of ll x=—|
1 IS 1 i = = = Hence, or otherwise, obtain the term independent of x. '
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Write down and simplify the general term in the expansion of (_\3 + 1 ) :
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Hence, or otherwise, obtain the term in x'*.
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